Ayouncemeyts  Fee 2
) Camrms on
- HW 2 dye Thu 3:30
. GmU?S/{O?I'CS due g:.{b 5

' O\‘\ \:fC ‘2’6) &??Jt
: \Ncw\-‘roo ﬂmf\\\ course Sr\u.o\‘mu\i Camog — Quitges



Codey qrghs
C = Cymf\’
G= waadc
FG,S groph
Virhes G

Qd St o__;.fﬁ
(e

N 4¢ G
Se%.

L(lﬂ: {W\L G Cr \—,G,S
G * V[T — VTG,
q W = 9n
&‘)ftﬁ“""‘“

Tis e o\so \Q\\s \ev whare
Qd%&s %0~
(4 S

S
sA 2, s "
b / i s
31\ / ?{e \0\*\5[%“”\')

A‘SO‘- G s Sq:(‘-é,s)



e e nckaes\ %X Induct on distance ?vvm Q.
T G __> gwr\*(\"w) vell shoo E(9) & L agree
o‘ngim.& a\opve. \S an \Somo( ?\m'sm, on a\\ VQJI‘H&S c? o\{S‘\anco, 4

’EC, ’EQM;VQZ Yo Show su{)ec\Ni‘w\\ g‘bm e.

let % ; Surn (T 5) Bose wse: distan 0

)\‘uA: %: 2(y) Sore ¢ G- \V\o\ll\dcive,S‘wQ: Assuuvuz, 3—7@) o
T, ! ‘s of distane N

\l\j\m\c\\ 7 Voo Q = i(?,) agreg. oM verties \?

A R fom € g&\\ v hes &\'s’rqn%ﬂﬂ

50% . T0O) ogee on  Then: VoW ()
s — ¢/ ol W

the vertex e
Jistance 2 W ° Y S 3w
N fome . o W/S oA (w) :fk(j)(@



\:om M@ivf‘ . \r\ O QXD\W\?\.D COw Yk

GO K =ty spee, T = ueit Sopove
(Qxcxm;bb - &R )
A g"undo‘m\k&\ o\owxlkn\, (;f "y
Pre ockion 15 o St TEXK
o5 \ssue #1. We don}t knoy Wit
O U % !‘E’ >< Upsed Subses og o\%mf\\a&.
N\O‘ no ?mw va?,e,& Gc ('Sf Ld\‘ b} (\ g‘-'\rdwr%\'&\ O\M\‘v\s :

Catishles ® & @. D /// ES



ETLKS'. GC}Y\:gfof\'\. b/?

[ (bary
i) Subdivision

edogs & 17).
,.i S\:vdaww’ka! dorain e GO D
S%gvofk T < P/ St
Q) T COY\MCM’ |
@ Uy -
5*63T F/

' T il WA (QSQQQ\‘
ORNCH

c¥ P (Sv\oc\\‘v‘ch \ g Y\’ C) Exam \L%
e D s & <'\(
2 De & @

@ 7 G




Ton Say GG
« T et wlym

' O =0

UsF OEr)

(C.C&. r = ¥\A7\D\ dw|m>

Lt S TG §F T +6$
Then O oprewtes G-

The smaller ¥ is, the swaor S is.
Tt by v cor bt St

Admou\ nS.

<—T;>\SGY\) .

Eﬁamp‘l& raxk ime
G\.‘mn Q Kv\\



9
T Sy GO ot gl
%( \r/ < v Scf)t%f',?k e “V
b Ust -0 S R
ge

Oresse y-,Gu€ G
(C-‘&. b= fwd dw\'v\> S‘{;\ %Wce, Gn=9
L"t S: icjcc: 3cnr*¢§ \) C&r containg P
P 6‘:‘—{'[\% ’ 2WS - & -CSL‘VS'\ Q\m': %ﬁ V 1.
g et Qe
—. C‘/\oos:&a Verkex v \n r Aow'- VOC&\\'—*QS = Q'e S
ﬁh a path S-‘m.\ v Yo %'\I q,(n%zf*gb .
3 a pabhn P = Fao P =29%¢S

(Y\ (onm.d'ec}u) = 62 s « PYOO‘ULC\‘ sg\“pod’k o)(’S



























